0.2

0.15

0.1

0.08F-+-+{--f---

I
©
)
ron. 5
S E

10

10?

0.2

0.15
0.1

0.05F -1

e
4

.....

.....

10

—=— DQM_TT__mkFit-DQM_original
—e— DQM_TT__mkFit-DQM_modified

100

0.8

sob | L (M

r L +
O S [ 11| FERE SRR
40F R {1 SXERE SRR
20F- SR 11 R
ok O 1A S 1 S S,
PSS |
a0 oo [
-60[ 1. , R ,. ....................
-80F S LR SRERE I
_1005 " I m| e b L | IR ETIT
]_:— ----- Tl bl-+ 4»:4,-1 [P . : ------------
0.95— ----- - » U R B R PR : ------------

102

1

o
N
=

10

R LR LR RN R RRRRY RRRRN RS RERRY LRLL
-
4+

3
B SEH
_ l AN
il sl
G & i
L b +[:
0.5p--------
L +

10

100r

e n -
L O

~10QE—lathli ]

A-
¥
1
3¢

=

1

10




	Contents
	Page 1


